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Math Test - No Calculator
25 MINUTES, 20 QUESTIONS

Turn to Section 3 of your answer sheet to answer the questions in this section.

DIRECTIONS

For questions 1-15, solve each problem, choose the best answer from the choices
provided, and fill in the corresponding circle on your answer sheet. For questions 16-20,
solve the problem and enter your answer in the grid on the answer sheet. Please refer to
the directions before question 16 on how to enter your answers in the grid. You may use
any availabie space in your test booklet for scratch work.

1. The use of a calculator is not permitted.
2. All variables and expressions used represent real numbers unless otherwise indicated.
3. Figures provided in this test are drawn to scale uniess otherwise indicated.

4. All figures lie in a plane unless otherwise indicated.

5. Uniess otherwise indicated, the domain of a given function f is the set of all real numbers x for

which f(x) is a real number.

REFERENCE

’ s
mi 0° |
b a
1

xV3
A=z’ A=tw A=Zbh F=at+ b? Special Right Triangles
C=2zr
Tr £ (ox) .
h - :
o N

£ 7

V= twh V=nrh v=tnt V=tmh v=Lowh

The number of degrees of arc in a circle is 360.
The number of radians of arc in a circle is 2.
The sum of the measures in degrees of the angles of a triangle is 180.
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Which of the following statements i
on the diagram above?

a
Note: Figure not drawn 10 scale,

L AADG is similar to ABDF,
1I. AADG issimilarto ACDE.

Il. ABDF issimllar to ACDE.

AN

only

g) land Il only
) land Il only
L\, Lui .nd m

’

What

26-3=7
x+2y=-2l

(are) true baged

1s the solution (%,) of the systém of equations |
sbove?

A (-6-15)
B (-3-9)
q (3.-13)
p) (4.5)

s —
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In the equation above, & is 3 constant.
value of a does the equation have
solutions?

| AR R 2 1
A comtraciog peeds 1 purchase plywond hnlhl and
anils for a job. The contractoe will bay p pl

boards fnr $16.9 each and ome boe of nalls for

$12.99 Which of the following equations
total cas, ¢, of the plywood basrds snd

contractor will buy'

A) c=6%p+ 1299
B) c= (12994 1699)p
C) p=1699c+ 1299
D) p=(1299+1699)¢

e
that the

o Pl i b Aot

3ax~7=6x~7
many

A) 0
B) 2

C) 6
D) 7
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A) “‘"ll._n

B) ‘-25,71

© -y

D) {7)

- spend maore than S350 cvery P

Cpaands, so the lcam wi
 of the followmny syslems of inequalities gives the

e s 3
‘\ socoet tcam mal\ HC“' Suppllt’?- I]ILZ I¢iun will H‘
x soccer balls al SIQ.:"(’ cach aod v pans of shin

s at $12.25 per pail The soccet Lesun Cannaot
fayer necds shin

I huy at least 1] pars Wiuch

passible mnbers of soceer balls and pairs of shin
guards the team can buy and meet the given

- condibons?
A) 1225¢4 19,50y 2350

x211

B 1225¢419.50y.5 350

x21f

| © 1930y 122572350

e

In January 2005, a ranger began monitoring
the deer population in an area, The function , * |
defined by P(r) = 650(L02)', where 0 S 155, |
llnodclsthenumbunl‘dmlmhemlrus&f
anuary 2005. What does the 650 represen
tin the

model? l‘
:; mnmbun[dmlnlhemhhﬂmmﬂﬁé

The number of deer in the area In Janiary 2010

|

C) The increase in the
number of deer per yearin
lhcnruﬁnm]:nuuymswlum;olﬁ |

D) T:&l:t::l:r;mlnlhe number of deer per yearin
| om January 200510 January 2010
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for a car driving m miles on a highway, Toll A's
cost. in dollars, can be modeled by the function
f(m) = 0.15m + 1.25. For a car driving m miles on a
highway. Toll Bs cost, in dollars, can be modeled by
the function g(m) = 0.20m + 0.50, How much

grester is £(40) than f(40) ?
A) $3.60
p) S240
Q S1.5
D) $0.75

— - — . - et

J(p) = 7.000 - 30p
A manuliscturer of DVD .*“
mf""'-""'ft’)mh:-h

A) For every 1 dollar incresse In %
;W':m-luyhhm::

B) For every | dollar increase In %0
2ﬂmmﬁyhhm=

) For every 30 dollar Increase in price, | fewer
DVD player is likely 1o be purchased each week.

D) For every 30 dollar increase in price, | more
DVD player is hikely 10 be purchased each weeh.

L ST S
In the xy-plane, the graph of the function i3
parabola with vertex at (1, 1) and y-intercept (0,-1)
Which of the following defines /2

A) f(x)==2x-1) +)
B) flx)=-2xe1)+1
O fls)=-3ts-1 +1

D) f(x)= -‘z-(nn’ -1
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y ey e2e-10p41720
g ’ dmmhmdumdh
clrclel
A) (lt -5)
C) (-li "S)
/ D) (-1, 5)
In the xy-plane sbove, line ¢ is parallel to the
line y = x, Which of
ofline € ? h““""lhﬂm
A) yux+2
B) y=x-2
Mo 2 Doy
C) y=u2x
D) y=2¢-3 ftx) =alx - b)}(x=¢)

For the quadratic funcion f above, a b and ¢ are

constants Inthe xy - planc, the graphof fisa
parabola that opens downward, and the coordinales

of s veriex are both posiive. Which of the followmg
could be truc”’

A) a>0,b6>0,¢>0
B) >0, b<0,¢>0
0 a¢0,b>0,¢>0
D) ac0, b<0,¢<0
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DIRECTIONS

For questions 16-20, solve the problem and
enter your answer in the grid, as described
below, on the answer sheet.

. Although not required, it is suggested that
you write your answer in the boxes at the top
of the columns to help you fill in the circles
accurately. You will receive credit only if the
circles are filled in correctly.

2. Mark no more than one circle in any column.

had

. No question has a negative answer.

. Some problems may have more than one
correct answer. In such cases, grid only one
answer.

. Mixed numbers such as 3% must be gridded

as 3.5 or 7/2.(If is entered into the
i

grid, it will be interpreted as %1

. Decimal answers: If you obtain a decimal
answer with more digits than the grid can
accommodate, it may be either rounded or
truncated, but it must fill the entire grid.

1
.not 32 J

Answer: %! Answer: 2.5
e, 71112 2|.|5
in boxes. . @ = E{-ﬁ;ﬁon @ @
QIOIOIO O|O|@| )|« Decimal
©(0|©® olol@ Po™
Vol JlO) QD@
jleenl ) eyl leies
aidin |©|G(3(® 6 \lo|le)le
resuit] | @|@|@|@ @|B|@@
@BIGI® e©elel |
®|®|®|® ®|®|®|®
® D@ D|@|D|@
®|@E® ®|®|B|®
elelc 0lele|®
Acceptable ways to grid % are:
21113 . |6|6|6 .|B6|6]|7
@A— DD OO
OIOIOIO @OV | @I
©|©@|® @|O|® ©|0|©
0/(0]0/[0)N0)[00][0 e 0] (0]
Q0P PR |O0o@
FIRICIe PR3 BB
@(B@|B| DD@B|D| DDBD
GOIBI®| OBICIB BB
©®|®t ©0e e ©ee®
DDD(D DDDD| DDD|®

Answer: 201 - either position is correct
" NOTE: You
2

may start your
answers in any
column, space
permitting.
Columns you
don't need to
use should be
left blank.

)l ICIC) @IS/
UCICL |@IS)[e]
e |-
4 IC)
UACICl | @IS)(e)
el ICISISED
ICICIC)®)

UCICIN@)
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I3 ) 3
h 2x* =172+ 36 =0

W " What is a solution to the equalion above?

-l""l"- - W

& b -
1]

1hﬂhtmqﬁdhnhurﬂundwnunh
g by the equation y = “Mxet)+5 where t
a real number. What is the valucof 1 ?

Wix—1)(x-2)(x+3)(x+4)=x" +ar’ ¢ bxiecx 4 d

for all values of x , what is the value of a ?
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5 A room clerk at an office orders more reams

> dm““ﬁ'““mwm ofmonﬂondayifthuupplyhiomwlu.

messure of angle B, " This Monday, the supply of paper is 325 reams. The

o How much grener i e ~ office uses an average of 15 reams of psper per week.

ﬂ"'“""‘”hmmmd T At this raie, in how many weeks will the supply room
08I0 clrk order more paper on Monday?
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Math Test - Calculator

55 MINUTES, 38 QUESTIONS

Turn to Section 4 of your answer sheet to answer the questions in this section.

DIRECTIONS

For questions 1-30, solve each problem, choose the best answer from the choices
provided, and fill in the corresponding circle on your answer sheet. For questions 31-38,
solve the problem and enter your answer in the grid on the answer sheet, Please refer to
the directions before question 31 on how to enter your answers in the grid. You may use
any available space in your test booklet for scratch work.

1. The use of a calculator is permitted.

2. All variables and expressions used represent real numbers unless otherwise indicated.
3. Figures provided in this test are drawn to scale unless otherwise indicated.

4. All figures lie in a plane unless otherwise indicated.

5. Unless otherwise indicated, the domain of a given function f is the set of all real numbers x for
which f(x) is a real number.

4 |
2
@ 30°
b a

=

xN3
A=mr’ A=fw A :% bh c=a+b? Special Right Triangles
C=2ar
N R A
h
w w
7 = .

V= fwh V=nrh V=tar’ V=tmrh V=1twh

The number of degrees of arc in a circle is 360.
The number of radians of arcin a circle is 27.
The sum of the measures in degrees of the angles of a triangle is 180.
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Ll v F el T | R A - M. i
A production manager sets a cony eyor
belt of an assembly line to move at o rate
of | foot per second. At what rate does the
conveyor belt move in feet per minute?

A) §
B) 12
C) 60
D) 120 The graph above represents the temperature of

an oven ¢ munutes after the oven temperature 1s

sct to 350°F  Based on the graph, which of the
following best describes the oven temperature?

A) The oven temperature niscs and falls
penodically around a temperature of
I50°F
exponential growth rate until it reaches a

maximum tempcraturc of 350°F

2)1f 32X = 2 whatis the valuc of = ?
4y B y

A) 2 C) The oven temperature nises to 3S0°F,
3 and then it vanes periodically between
3 room temperature and 3S0°F

B) -
» D) The oven iemperature reaches 350°F
27 and remains constant

O) ~
3

D)y 7
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e e I T —

A10ax~5) @ 2ax + 28

nmmh.'hln mﬂ..othnuuptv"‘: ::cdut'homm,Mumﬁ
ydrates. Which -ax

than 75 gran 1S MOre than 250 calorles butless  A) =2

Brams of
B) 2app 88 40d | banan ering c 0
O 3 Servings and 2 bansna servings
% “"‘""'Mnnmdzmm D) 2
"""Wmdnumm
[ 7 [ SRt

A fabric salesperson receives § percent of the
amount of cach sale as commission. what is the

“-"*- = 3 salesperson's commission on a sale of 400 square
T — yards of fabric selling for $8 per square yand?

_Mode of Transportation to Schaol
Grade | Walk [ Bike] Bus | Car | Total A)  $160
M |24 116 46] 18] 104 B) $200

0th | 20 8|40 24| 92
Hth | 1] 8| 32]38] 89 0 90

12¢h 12 111 | 18] 46| 87 D) $1.600
Total | 67 | 43 136|126 | 372

Thctlhleabovcdisphyslhuemluofl survey given
to 372 students at a high school regarding theit
typical mode of transportation to school. What is the
e th;j: a student selected at random uses a
Or car as his or her mode of transportation 1o
school, given that the student is in the 1 1th grade?

32
A)E
70
Bl‘;
89
9 %
p) 262

w
~
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For their practical exam in binary Rission, a

blology class at Central High School placed 50
bacteria cells in a culture dish in their

laboratory. The number of cells of these bacteria
doubles every 20 minutes. How many bacteria

cells will be in the culture dish when 1 hour has
passed?

A %0
R

0 X0
p) 150

ER R T

Ellen would like to find the proportion of all
houses in a large city that have a garage O
the following, which sampling method w wild
be the best in estimating tus proportion”

) Research the 100 houses most recently sold in
the city
and
Randomly select & small area within the city
. mdi&cbun:simhnm

Q Randomly select 10 houses from all of the hou
in the city

p) Randomly select 100 houses from all of the
bouses in the city

4]

[V = -
A radar gun was used 10 measure the speed of

vehicles traveling along & highway. Afier all of the
ﬂmmlm;.?mbmdﬂm&uhm

had been calibrated incorrectly and was reporting
each speed o3 3.9 miles per hour lower than the
actual speed of the vehicles. Which of the

loBowing
satistics will NOT change If the speeds are reported
ot thetr actual valoes!

A) Men

B) Median

C) Minimum

D) Standard deviation
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w"-!ll’*b&omw
Gmuﬁhh&hlul&hmu,“,

:

7.000

Number of guests

S, BEEBEE

mmll.&wmdm-&uuum.u

amusement park was 56,304, The bar graph sbow shows the
of the guests by age.

Of the following, which 1s closest to the ratio of the
number of guests who rode the boat nde aged 60 (o
64 10 the number of guests who rode the boat nde
aged 65 and over?

A) Ltod
) 2108
) w2
D) 2wl

Which of the following age-groups is
approximately 25% larger in number
than the 65 and over group?

N Sw?
j) Bto24

Q Btd9
p) 6049

13 SR 2 )
Which of the following ages could be the median agr

of the group of gucsts who rode the bost ride la
oIt

A) D
DR Y

- QN

D) 35
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Mount Everest is the highest mountain on

the planct. In 1999, the highest point on the

mountain was measured 1o be 29.035 feet
above sea level, Scientists believe that
Mc.unt Everest is still growing and
esumate that the height of the mountain is
increasing between 0.16 and 2.4 inches
every year. (Note:lroo:-lzinchcs)

e ]

Based on the scientists’estimates, which
of the following inequalities represents
the height h, in feef,of Mount Everest 12
years afler 19997

A) 29.035+0.16 < h < 29035 ., 2.4
B) 29.035+0.16 > h> 29,035, 2.4

C) 29.035 + 0.16h < 29,035 + 2.44
D) 29.035 + 0.16h > 29,035 + 2.4k

which of the following expression: represents the
ce between the maximum and

‘m ; m
Fdwbdym.mlndm.otumlzmurm
ahter 19997

A) 2241
224¢
B) 12
2.24¢
C) 29035+ ——
12
D) 29.035 + 2

If the height of Mount Fverest increases by
2.4 inches cach year, how many ycars afler
1999 would the mountain be expected 10
have a maximum height of 6 miles above
sea level? (Note: | mile = 5,280 feet)

A) 1545 yenry
B) 13229 yann
O 31,740 a0
D) 76176 pears

The base camp for Mount Everest climbers is

17598 feet above sea level. The fastest anybody has
climbed from base camp 10 the highest point on the
mountain is 8 hours and 10 minutes. If T is the time,
in minutes, i took this person 10 reach the highest
POint om the mountain from the base camp. what are
the value 3nd meaning of m in the equation

17598 + mT « 29,035 ?

A) The climbing distance from the base camp to the
highest point on the mountain s 11,437 feet.

B) The person took 490 minutes to make the climb.

C) The person's height above sea leved Increased at
A kverage rate of approximately 23 feet per

D) The slope of the mountain is about

11 vertical feet for every horizontal foot closer 1o
the highest poin,
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lmm.u:uwmmm""wmnﬁ;&
WIWHI!.lhI ""P"m 1 seconds sfier she

A) M+ 2

1
xX=—ym
‘y I5

%x+y-l

If (x, y) satisfies the system of equations sbove, what
isthe value of x ?

A) 2
B) 6
C 8
D) 10
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Mdlhbloﬂn;eoﬂdhﬂnmq
1
y-"-(x-l)'on lnlhur-ph:,-iﬂ.h‘
positive constani?
A) y
B
[ =4




I4 | .
S ———

A company wlls esch phone it
wmu.mu;“'ﬁmuh&m
preduced. Which of the following f ﬂ“h

e producing and
-‘ﬂuu:;n' n phonest (Profit ls total

N ﬂl"'ﬂ'mm
5) M) = 200" - 80" - 800, 000
g Ko= 120n - 800, 000
o) ﬂl)-m-m.m

Cara bas [ flasks in her chemistry lab. After
one-fourth of the flasks, she orders

4 flasks.
dhree new sets of flasks, each containing "

Aher receiving the order, she has n flasks.
the following equations gives n in terms of /7

n I::l'!*l"

4]

: Inch
T —ﬂﬂ-&'&l =Lp [pounds

3 M

The table above gives the pressure on an object

two depths under the surface of a body of water, The
formula p = @+ kd gives the pressure p, in pounds
per square inch, exerted onan object ot depth d in
feet, where @ and k are constants, What s the valye
ofk?

5
A=
)ll

"
B) -
C 5§

D) 1l
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Bl e 2 -cammmm e

- In the xy-plane, what is the radis of the circle with
center (5. 2) and y-intercepts (0, - 10) and (0, 14) !

A) 10
B 12
o n
D) 14

What are all values of x for which J:’-S Blfd
number?

A =25
B) Ix|sV5
C) |25
D) |x|s5

-

4

The amownt of money, A, in a bank account carming
simple interest can be determined using the formula
A =P+ Pri, where ' is the principal, r is the rate of
intcrest camed. and 1 is the time in years. Which
formula shows the value of the principal in terms of
the account balance, rate of interest, and time?

-195 -



14

Ina US consins, # wan reperied that K2 921 961
Prople who were 3 years uld or older were enrolicd
0 same ype of school. The table below shows the
cumukdnmunqmuwmuwpumknmﬂnhn
schoaols hml:ndunﬂhylm of school and gender

US School Enrolimen of
3 Years Old “%,M
C Male Female
Population 40206514 | 115047
T;..ynchodw 6.4% 3%
#
Kindergarten 68.1% 615%
12th grade
College. vocational, 25.5% N7%
ol 100.0% 100.0%

nearest tenth of a percent, what percent of the
1::‘“?“"” enrolled in some type of school were

.i’uwdhdhtdk'&vmuﬁmukulﬂﬁu"
wchool?
A) 125%
B) 128%
() 255%
D) 44.6%

4]

A D

In the figure above, ABCD is a rectangle. Which
the following must be truet

A) sn(LABC) = cos(ZADC)
B) sin(ZACB) = cos(LCAD)
C) sin(£LBAC) = cos(£ACD)
D) sin(£BAC) = cos(£CAD)
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DIRECTIONS

For questions 31-38, solve the problem and
enter your answer in the grid, as described
below, on the answer sheet.

. Although not required, it is suggested that

you write your answer in the boxes at the top
of the columns to help you fill in the circles
accurately. You will receive credit only if the
circles are filled in correctly.

2. Mark no more than one circle in any column.

B ow

. No question has a negative answer.
. Some problems may have more than one

correct answer. In such cases, grid only one
answer.

. Mixed numbers such as 3% must be gridded

as3.5or7/2.(If is entered into the
IS

31

grid, it will be interpreted as P

B E
.hot 3 3 oy

. Decimal answers: If you obtain a decimal

answer with more digits than the grid can
accommedate, it may be either rounded or
truncated, but it must fill the entire grid.

Answer: % Answer: 2.5
?r’gﬁe-r_"”lf 112 21 .15
in boxes. . @ e E:,a.;tion @ @
QRIOIO QlO@|O)« pecima
@ 0@ oo *
OO @D OO|®|D
Q22|@ 2@
idin] (90| 3I6|0®
Rl 1O (O[O @(@@|D
Q|G olelol
®|®|E|® ®|®|®|®
Q@D @|D|D|D
®|®|®)|@ ®@(B|®|®
L O@CC® @0O®
Acceptable ways to grid % are:
zqg .|elele| |.|e|s|7
@ QD Q@
QRIOIY @O0 @O0
Q0@ ©|0© O|Q|®
OOIO@] @O0 (OO
Q022 @22 (@R
OICICe |G (B3
@@G@ @GB® G®B@®
GIBIBIG &GO (BG®
®EIeE |©0ee |©ee®®
DD | DDD|D| |D|D|D|®

Answer: 201 — either position is correct

NOTE: You
may start your
answers in any
column, space
permitting.
Columns you
don't need to
use should be
left blank.

L)

©

ICIC] SIS)[e]
ICICL J9IS)[s]
UCl ICIOISE
ICICIC] )

i ICICISISILN
el )9

Q
@
®

ACIC)
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14 B 4

langh of
The Salh Bomd was & 4000 myile trsde rotme that the ramg
comnected China o Farope To the nearest keague, :t
how long was the Stk Road”? )
(Note | league - 3 miles) "
Note: Pigure not drwven 10 scale.

Amh.ualm.whmhg.m
Public st form an angle with level ground sy
that the of the LS
Vangen of the ange 10 == 1 the e
Shove. f the ramp conforms 10 the law and bas s

32 " %a Sl =
height of 1.5 feet, what Is the value of x. in feet?

what 1s the slope of the line in the xy-plane with
equation 3x-5y«~18"

B e

¥ -36=ab

johe equation above, if @ > 0 and both a and b are
jegers. what is one possible valueof a ?
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Questions 37 and 38 refer to the following

ERMenas. acrams oeswremmmn  oomsson
In & community ganden, the ratio of emato

Helghts of Mothers plants 10 pepper plants iv | 3, and the ratio
of pepper plants 10 pea plants (s 8 | There

are 6 pea plants in the garden

How many tomato plants are in the garden?

L 11

i
60
59

59 60 61 62 63 64 65 66 67 8 69 TV
Mother's height (in)
The scatterplot above shows the heights, in inches
of 16 and their adult
randomly selected mothers A

daughters. What fraction of the
ptiubnndlﬂumhhdghlpulcrlhanﬂndﬂ!
K . o v "wEeTE v

Next year, there will be 25% more pepper planis
in the garden. If each plant yiclls 4 peppers, how
many peppers will there be?

B mmesrameaswr v 3R

y=0
y=x*+6x+a
In the system of equation above, a is a positive

constant. For which value of a does the system
have exactly onc real solution?
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Jan. 2017 Answer Key

Section (3) Section (4)
1 D 1 C 21 C
2 B 2 D 22 B
3 A 3 A 23 C
4 B 4 B 24 D
5 D 5 B 25 A
6 A 6 B 26 C
7 D 7 A 27 A
8 A 8 B 28 A
9 A 9 D 29 A
10 C 10 D 30 D
11 A 11 C 31 1333
12 A 12 D 32 3/50r.6
13 B 13 A 33 5,9 160r35
14 D 14 C 34 18
15 C 15 B 35 1/8 or .125
16 1 16 A 36 9
17 4 17 A 37 16
18 9/2or45o0r4 18 B 38 240
19 75 19 c
20 19 20 C

-201 -




	real sat math B1_1-10_page-0123
	real sat math B1_1-10_page-0124
	real sat math B1_1-10_page-0125
	real sat math B1_1-10_page-0126
	real sat math B1_1-10_page-0127
	real sat math B1_1-10_page-0128
	real sat math B1_1-10_page-0129
	real sat math B1_1-10_page-0130
	real sat math B1_1-10_page-0131
	real sat math B1_1-10_page-0132
	real sat math B1_1-10_page-0133
	real sat math B1_1-10_page-0134
	real sat math B1_1-10_page-0135
	real sat math B1_1-10_page-0136
	real sat math B1_1-10_page-0137
	real sat math B1_1-10_page-0138
	real sat math B1_1-10_page-0139
	real sat math B1_1-10_page-0140
	real sat math B1_1-10_page-0141
	real sat math B1_1-10_page-0142
	real sat math B1_1-10_page-0143
	real sat math B1_1-10_page-0144
	real sat math B1_1-10_page-0146



